Ciclo For O
Start

int N
#include <iostream> v
using namespace std; Leggi N
int main () {
int N;
Si Stampa
. "N deve essere
cin >> N; positivo!"
. No
if (N<=0) {
cout << "N deve essere positivo!" << endl; int somma := 0 e
} T
v
else {
. intconta =0
int somma = 0O;
for (int conta = 0; conta < N; conta++) {
_ . No
somma + conta; Stampa somma
}
R \ 4
cout << "somma: " << somma << endl; Si
} End
re turn O ; somma += conta
} v
conta++




Ciclo While
Differenze sul diagramma di flusso?

#include <iostream>
using namespace std;

int main () {
int N;

cin >> N;

if (N<=0) {

cout << "N deve essere positivo!"

}

else {
int somma = 0O;
int conta = 0;

while (conta < N) {
somma = somma
conta+t++;

+ conta;

cout << "somma: "

}

return 0O;

<< somma << endl;
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somma += conta

v

conta++

End

Stampa somma




Ciclo Do ... While

#include <iostream>

int N
using namespace std;
. . \ 4
int main() {
int N; Leggi N
cin >> N;
if (N < 0) { Si Stampa
cout << "N deve essere positivo!" << endl; ng‘;ﬁi\’fgﬁere
} else { POSTIVO'
int somma = 0; No
int conta = 0; int somma := 0 o
do { ‘
somma += conta; intconta =0
conta++;
} while (conta < N); \ 4

" " »| somma += conta
cout << "somma: << somma << endl; ¢
return 0; conta++
Si No

Stampa somma




